Femoral BMD (glcmz)

Tb.N (1/mm)

0.20- OVXp=03
MMF p = 0.5
" [ ]
0154 o L L A v
A
=
[]
0.05+
[
0.00 T T T T
|O& @é |0& @é I
Sham ovX
1.5- OVXp=07
MMF p = 0.8
[ ] v
.0 : A M
10{ o R
5 A i
e
ah
0.54 ° ]
°
0.0 T T T T
cfo& @$| IO& @@Q l
Sham ovX

8-
MMF p = 0.1
6 " M
g o0 - A
E 44 (] VYvyv
S | == iﬁ, ’3§
o ] A
24 °®
c L] L) L) L)
(10& é&l oloo Q@Q '
Sham ovX
0.8- OVX p=0.03
MMF p = 0.8
= 06 e
E vy
&V TR e e TE
1 )
ﬁ 0.2+
0.0 T T T T
S & & ¢
Sham ovX

Th (mm)

Tb

0.060- OVXp=04
MMF p =0.2
0.0554 ",
. n v
0.050+ ° _:E N vy
[} ; vv
0.045- _} " : . I v
0.0404 eqe
0.035 T T T T
g & g &
0°° ‘§‘ C,o“ ‘§‘
Sham ovX




